- OPENNET -'VIIE : Entrance Test for

B.Sc. (Nautical Science)

June, 2008

¢ .

Total No. of Questions = 180

Time : 3 Hours

’.uﬁ‘.
| — Al questions are compulsory.
—  Useof calculator is not ’allow'ed. Rough work may be done in the space provided at the back
‘ of the Test booklet. ' .
;;‘ _ — ”‘,The_Test booklet has the following 6 tests
t o Teéts - o No. of Questions Marks
ol - Engish | 30 30
II - General Knowledge 30 30
.| 'TII - Reasoning Aptitude 30 30
2 _ IV - Mathematics 30 30
o V - Physics | 30 30
“|“"VI — Chemistry : 80 30

Read the instruétions given on the OMR Answer Sheet carefully before you start. -

i
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HOW TO FILL UP mmmmr«mm RFTBANCE TP6P OMR ANSWER SHEET

While ﬁllmg up the OMR Answer Sheet you éhould follow the followmg guldelmes

l"-., * ,i ‘A f

RN

1. Write your oomplete Roll Number. This should correspond to the roll number already
supplied to you. Also write your correct name, address with pin code in the space
provided, in ink. Put your signatures on the Answer Sheet with date, in ink. Ensure
that the Invigilator in your examination hall also puts his signatures with date on the
OMR Answer Sheet at the space provided. You should use HB pencxl to mark the o
answers of the questlons on the OMR Answer Sheet. : : ‘ﬂ :

- 2. Do not make a.ny ‘stray marks on the OMR Answer Sheet.

3. Write correct information in naumerical digits in Roll No., Programme _Code,“ Date and - -
Month and Examination Centre Code Columns. 'The column of CMCW
should be left blank. The correspondmg circle should be dark- enough and ‘should be -
-ﬁllediheompletely o . i S e ‘.,_,:1& ,

4, Each questlon is followed by four probable answers which are numbered 1,23 and 4

~ You should select and show only one answer to each questlon conmdered by you ‘as the .
most appropriate or the correct answer Select the most appropnate answer. Then by
using HB pencil, blackeh the circle bearing ‘the* cox‘i‘ect answer numﬁei-‘ against the'
serial number of the question. If you find that answer to any questlon is none
~ of the four alternatives ngen under the questlon you sllmlld dﬁiken the
cu'cle‘O’ ; : T LT i

i “Il\.

using a good: quality eraser and then blacken the circle bearmg your rewsed answer . o
number. If incorrect answer is not erased completely, smudges . wﬂl be ,leﬂ'. on the -
erased circle and the question will be read as having two answers- by the. Optmal Mark \
Reader (OMR) and will. be ignored for glvmg any credit. ‘

| | S
5. If you wish to change your answer, ERASE completely the alrea ly %arkened mrclg by!

i

6. No cred1t will be given if more than one answer is glven for one qqost;onh Therdioma e
you should select the most appropriate answer. - - - Lo et

. . . s . R . 4- “;.H . .' )'xﬂ."-
7. You should not spend too much tlme on any one questlon If you find any parhcullr L
’ question difficult, leave it and go to the next. If you have time left after .answering all ks

the questions, you may go back to the unanswered ones.

8. There is no negatfve marking for wrong answers. -
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/' GENERAL ENSTRUCTIONS |

1. Mobile Phones, calculators, 'bodléé,f.i;lide-rulrcas, foot rulers, note-books or written notes,
etc. are not allowed inside the examination hall.

2. You should follow the instructions given .by the Centre Superintendent, observers and
by the Inwgllators at the exarmnatlon venue If you vmlate the mstructmns you will
. be dlsquahﬁed ' LS ' ' DU s -

3. Any candldate found copymg ‘or receiving or ngmg assistance in the exammatmn w111
" be disqualified. :

4. The Test Booklet ‘and the OMR Answer Sheet would be supplied to you by the

- Invigilators; After the exam is over, you should hand over the OMR Answer

-~ Sheet to: fh’elhvig‘ilator-before leaving the examination hall. However, any

candidate leaving the -examindtion’ hall before the completion of 3 hours must hand

over th'ev OMR Answer Sheet as well as the Test Booklet to the Invigilator. Any
candidate who does not follow fﬁé’se instructions will be disqualiﬁed. '

5. Candidates' arriving late will not be permltted to -enter .the examination hall. The
reporting time 'is 9.15 A. M The examlnatwn w111 start at 10.00 A.M. and will be over
at 1.00 P M S

6. Al rough‘ w’ork ig' to be done on'the test hooklet itself -and not on any other paper.
‘ Scrap paper is not permitted. For arriving at answers you may work in- the margms
make some markmgs or underlme in the test booklet 1tself *

7. 'The Universify reserves the right to cancel scores of any candidate who impersonates
~or uses malpractices. The emmmatldn is conducted under uniform econditions. The
Umvermty would ‘also follow a- ptocedure to verify the validity of scores of all
examinees uniformly. If there is . substantlal indication that your performance is not
genuine, the Umverslty may cancel your score.
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‘Directions for Questuma No. 1t 6 Remf theﬂﬁassage given be“low and answer the q""
' gwen at the end of the paSSage, ‘on the baézs ‘of the contents of the passage ’ b

ardy a0 ¥

. He father, Edwa:@ Moulton Barrett, was, as Elizsbeth 1 ar, wrote, 8. very. pecuhar B
person. “Heu' to a fortune, educated at Harrow _and Cambridge, he, wag neverthaless a complete R
‘domestic tyrant.” After beanng him twelve children, his. gentle wife.: had little strength left far
struggle ageinst him, and the children never: WW g wishues: onioh w0 o

Yet, Ellzabeth’s childhood was happy She romped and stuthed W1th her eldest brother BT
- learnt Greek and French, read widely, and, ‘wrote postic. tragedies. Hﬁgwowg,pragedy bggah at; ' o
fiftpen avith /a cough aqdanruuury to-hevback, whxd;m;ﬂwdm inargasingly tbe SR
her mother died:. < , i+, - ap a- ant sy sid Rt ,n ni u!; o3 1'1

or l iy

, Four years later her father demded to sell the qouhtl;g hemgmxbe la.r‘ge \%mﬂy mW’;
from, house to house untll her father bouaht No 50 Wimpole Street.. Themj;l zabeth s
~ worse, and she became a creature of the shadows and sﬂence '

ERN

‘ AS the years passe& ‘the fahil f y grew* used“ to hef Jmtlidrawnv l;ife' |

il

‘4 mdependenee, for an uncle had left her a small mcome But her brothers ,a.nA

i

“tars wem all at

- the mercy of Mr. Barrett’s harsh rules, which hung over the household: like thunder in heavy'{ o
Weather Chlef among them was the absolute refusal ito let his daughfm;;

;, He Irrqvented; ek

strengthen the walls of her pnson

- s T NI TeY \’ ey ” "’%?i'?ﬁ' . ‘«‘ r'
) By 'A,Elmbeth ayfather wab ‘a mm;ﬂete domeptmtyxwﬁ unﬁlies 5
Sy ‘that he- Was fond’ ‘of his chlldren g et P Gt s e
(@ that he helped his wife with the horusehold dutles B R
"(3) that he ruled kike a cruel dictator 8 | R

| 4) that he was a stem and dmclplmed head of the fa.m1ly _

2, ',In spite of everything, Ehzabeth’s chlldhood was happy because S . !
-~ (1) her father was kmd to her e
(2) her mother was alive :
(3 she had some intellectual interésts and was healthy
(4)' her ﬂlness had not yet cnppled her
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3.  What broke Elizabeth’s heart ? v
(1) Her father’s refusal to'let his daughters marry
(2) Her father’s refusal to let her sister Henrietta marry
(3) Her illness which prevented her from getting married
(4) The unpleasantness that followed her father’s refusal to let hér sister marry -

4. Elizabeth’s own tragedy began when "
(1) she became a creature of the shadows and silence

(2) her father bought a new house at No. 50 Wimpole Street
(3) she was fifteen and had an injury to her back

(4) her health grew worse

5. Explain the idiomatic expression : ‘to break one’s heart’. W
(1) to become sorrowful -
(2) to feel weak and uneasy
(3) to get angry
(4) to crush with grief

6. Explain : ‘a creature of the shadows and silence’.
@ a lonely person ’
(2) a secluded existence, out-of-touch with the world around her
(3) a ghost or a spirit
(4) unable to communicate with others

Directions for Questions No. 7 to 12 : Each of these questwns consists of a word in capital
letters followed by four alternatives. Select the alternative that is most similar in meaning
to the word in capztal letters in each case. .

7. ABANDON
- (1) desert
(2) restrain

(3) amass
(4) collect

8. WRATH . o Lo
(1) violence ' |
(2) anger
(3) "hatred
(4) jealousy
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/ mLAR;aUS | R L e
Ty mlly, \ @) ummﬂmm? AR AR
@) gy T (4) ‘sad ek ettty -

[
- E | L e i
LR S . X o . EEESEE A F 4 .
RERE 3 . .

N loﬁADEQmE' e . S K Py . i S u .
U @) Yess 1 (2) more L ,
® émav‘ ©© (@ sufficient R ‘ ,

11- g REPR..F ; I T . cow Yo
‘(3) : ndu;ule - (4) ‘thl'éa't | | S ( oo | el ‘xv i o
L) dry © (2) rigorous ”"i: A o .,

Dwectiona ibr Questiona No. 13 to 18 : Each of these questions conszsts of a word in oapttal
letters, followed by four alternatives. Select the altematwe thct zs opgnnte in 1
the, word in capital letters in each case.” -

N - : thp

(1) clear | | : i e
(2) - brilliant \ T |
”“&ﬁﬁammﬁ&ffgy- : . - . § R

B 2

(2) heavenly "?w; S R R R T L TS
(3) " angelic o o ! R B )
(4) earthly | | e

15. CREDULOUS | ' . S

(2) believer

(8) - surprised -
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16.

17.

18.

19.

20.

21.
22.

23.

. 24,

INDIGENT = S R R g
(1) lazy :
(2)  poor

(3)  careless - : . L v
(4) rich

INCOHERENT

(1) intelligible

(2) disorganised - »

(3) unequal = -
(4) - detached ' o N

PROLOGUE

(1) dialogue

(2) epilogue
(3) preface

4) introduction

Directions for Questions No 19 to 24 : Each of these statements consists of four underlined

sections, one of which is incorrect as per usage of Standard English. You have to identify.
the segment which is incorrect, in ‘each case.

Durmg in the summer vacatloxi I shall go to the hills - where I propose:

(1 ' (2) 3)
to spend a fortmght with my father. '
(4)
It is clear from the facts gathered so far that he had
(- : 2) 3
in that murder. P R

4)

He explained why the manuféctm'ing of the gdods have stopped;
(1 )] e @) (4)»

Surely, it is not his book, it is “somebody’s else.
(1) (@) - ®) @

The two brothers were quarrelling- with one another.

@ @ @ @

Pi_d you have the lunch .?
1 @ @ (4)»' '
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e
v
ctions for Ques!iom No. 25 to- 30 : lel in the blanks wzth appropnate mﬂm&m

“the. altematwes (1), @), (3 dﬂd (4),. ST NI .

‘ P - . S el
He persecuted lns subjects 3 _____their religious l'ﬂiefsg' o -
1) in . . ' R T
(2) from
(8) for
. (4) with

2 6. The taxes thaiﬂ:'were‘bgin'g‘ unjustly l'evied were _abplished
S ow T
. (2) by
(3) from
(4) against

27, I‘he two brothers wrahgled e : the dastnbutlon of thepmpse\i'tyK
(1 over S A T e
(2) with . . P e Y

e T Ao BN N A A T T RN S R e P S RIS

28. At the s;ght\otl;bahuge mmwwm patnﬁed
' CO
.(2)‘ with\" o SUTR
@ for ) L e S e

'29. 1 would like to know
(1) whose B
@) whichis 0 el

(@ what's | S

e

0. Iflhadacheice] ___  ° ‘stayedoh
(2) could have = “‘ o
(3) would have- I B <
(4) " had had
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GENERAL KNOWLEDGE

31. The coin called ‘Rupiya’ was issued for the first time by
(1) Sher Shah Suri -
(2) Akbar
(3) Alauddin Khilji
(4) Mohammad Shah Tughlag

82. The newspaper which was reéently voted asv the largest selling newspaper in the world is
(1) The Los Angeles Times ‘
(2) The Times of India
(3) The London Times
(4) The Newspaper Times

33. Egg is a rich source of nutrients .éxcept
(1) Vitamin C
(2) Protein
(3) Vitamin D
(4) None of these

34. India Broadcasting Service was renamed in 1936 as
" (1) Akashvani ‘ k
(2) Nabhovani
(3) Doorvani
(4) All India Radio

35. Which of the following rivers does not flow through the northern plains ?
(1) Gomti - ‘
(2) Gaghra
(3) Bhagirathi
(4) Krishna

36. Who was the first Chairman of the Planning Commission 7
(1) Gulzari Lal Nanda
(2) J.L. Nehru
(3) C.D. Deshmukh
.(4) KC:. Neogy

OPENNET-VIII/2008 9 —— P.T.O.




88.

39.

41,

42,

OPENNET-VIII/2008 e

(1) Sulphuric acid

(4) pests

éch of the following is not a statuﬁrng"

(1) Election Commission §. ;7' 3 Wele o B Py

c (2) . Fmance Commission -

3) Planmn, gCommlssmn S T T G e
(4) Union Public Service .Commissiqn

Entomology deals with R e L AU T

(1) . ear and nose

(3) language . ‘ - | o ) g . |
(4) ‘insects. - o T | e

The acid that is generally stored in batteries is it RS

(2)  Nitric acid |
(3) Hydrochloric acid o ‘ I : : R

(4)  Acetic acid

Which of the followmg is not a part of the pubhc sector reform in Indla ?

(1) Restructuring ’ R R R Hetosa S

(2) Memorandum of Understandmg MoU) - S I ?fg’; i
(3) Association of Industrial Licensing E s T
4) .Dlsmvestment ' ' | ' o
Weedlcxdesare us?dto kil G A ,( ”. e . “ '
(1) plant - » _ LT e G .

_(2) insects SR . ‘ ' ' - ‘ e : v o .
(3) unwanted plants : | | ) n;p N S

Who were the first rulers i India’ tfél 1ssué gold coms o ‘mass séa.le ' | HE
(1) Indo-Greeks _ Y

(2) Kushanas
(3) Satavahanas
(4) . Guptas

S




43.

44,

45.

46.

417.

Which of the following compounds are responsible, for acid rain ?
a. Nitrogen dioxide

b. Silicon dioxide

c. Sulphqr dioxide

d. Carbon monoxide

Select the answer from the codes given below :

(1) aand b
(2) aandec
(3) bandd
(4) candd

Which of the following is not a Virai_ disease ?
(1) AIDS

(2) Measles

(3) Mumps
(4) Leprosy-

Réindrops are .spheri}cal." due to
(1) - Viscosity of water

(2) Surface tension

(3) Continuous evaporation

. (4) Air friction

b

Consider the following animals of India :

a.  Crocodile

b. Elephant '

Which of these is/are endangered species ?
(1) Only a L

(2) Onlyb

(3) Both a and b
(4) Neither a nor b

Which of the following is an important l'ayer for the transmission of Radio waves ?
(1) Stratosphere | "
(2) Troposphere
(3) Ionesphere

(4) Mesosphere

'OPENNET-VIIl/2008 ' i 11

-P.T.O.



49,

51.

- Who said that the King is a “Shadow of the God on Earth” ?

(1) Abul Fazal
(2)  Faizi

(8) Farishta

(4) Babur

Which one of the following port cities in Venezuela was developed as an 011 port '7
(1) Caracas

(2) Carupano- S

(8) Maracay | ) } ST

(4) Maracaibo

The sportsperson Yuvraj Smgh is associated with
(1) Archery

(2) - Cricket

(3) Athletics

4) Golf

/

Who amongst the following was the ﬁrst Sultan of Tughlaq dynasty ?

(1) Firuz Shah Tughlaq

(2) Muhammad-bin Tughlaq

- (3) Ghiyasuddin Tughlaq
. (4) Nasiruddin Muhammad Shah

Who amongst the followmg Mughal rulers relmposed ‘Jamya’ ?
(1) Akbar : .
(2)  Aurangzeb . B o
(3) Jahangir - | o,
(4) Humayun | | BT

Dr. RK. Pachauri is associated with -
(1) Music

(2)  Art

(3) Medicine

@ Climate change

The best known example of the Hoysala style of temple is found at |

(1) Ajanta

(2)  Madurai

(3) - Karle ) : S
(4) Halebid | S e

* OPENNET-VIII/2008 1z
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55. Panini, a famous personality of anci_eliti’lﬁﬁa;'fm-a/an» .
(1) astroanﬁef Lt e
(2) gral_hmarian‘
| 3) matheniétician

(4) philosopher

56. Dr. M.S. Swamihathan is'associatedv with
(1) Agricultural research .
(2) Space research

(3) Nuclear research

(4) Music

“e-chaupal” ?

(1) ITC

(2) Dabur A ‘ o o
@) HLL . .o
(4) Procter ‘and Gamble R

58. The total geographical area of India is
(1) 229 million hectares
(2) 350 million hectares
(35 329 million hectares
(4) 500 million hectares

~59. Which of the following is the first surface-to-surface missile in India ?

(1) Prithvi
" (2). Trishul
(3) Agni
(4) - Nag

-60. A program used to start the computer is

(1) - Compiler

(2) System Software
(3) Boot .
(4)  Interpreter

OPENNET-VIII/2008 C ' S 13
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o TRERHE o0 b e T
REASONING APTITUDE ,

6l IfP+ Q means P’ is the brother of ‘Q’, ‘P x @ mears ‘P’ is the fai;};gr of
' P’ is the mother of ‘Q, which would mean ‘R’ is the son of M

(1) MxSxR . o - . : C r’",-"('
(20 M+RxS : T St LR
3 M+RxS L e e g
@) st+R - ' T

62. Reena is twice as old as Sumta Three years ago, she was three tlmea % old as,Sumta,
‘ How old is Reena now ? . . .

- (2) 6years , . , A | . S
& ‘fw(3) g yéars RS E * N TR ATRT RNV S ot RN G EY " b
(4) 16 years - | o

- 63.  The clinic of a doctor faces the west. From the back side of his clinic, ﬁmi
100 metres then turns to the left and walks 100 metres again. F‘mﬂly ‘het
right and stops after walking 50 metres. Now in whmh dlred;lon“** tho daekor
starting point ?

(1 Sputh-west »
(2) North-east =
~ (3) South-east
 (4) North-west

gwen words ﬁnd the ‘misging. tcm from. the gwcn optwns
Coathrd o gl e e L oty
64.  Baby : Human : :Lily : ? '
(1) Flower
- (2) 'Rose
(3 Hand
"(4) Down

'85. CART:ART::FOUR:? . .
. V() RUN | |
(2 TWO

(3) QUE

(4) OUR

OPENNET-v2008 . 14



66. EIGHTY : GIEYTH : : OUTPUT :‘? : R )
(1) UTOPTU
(2) UOTUPT
(3) TUOUTP
(4) TUOTUP

67. ABC:ZYX::DEF:?
(1) UVwW
(2) wuv
(3) FED
(4) WVU ‘ \

Directions : In questions no. 68 to 70, three out of four words are alike in some manner. Spot
the odd one out. '

68. .(1) Cannon
(2) Gun
(3) Pistol
(4) Sword

69. (1) Chemistry
(2) Geography
(3) Subject
(4) Literature

70. (1) Club
(2) Heart
(3) Spade
4) Ace

71.  What is the proper order of the following ?
Accident

o
S

a .
b.  Hospital | ‘
c¢.  Ambulance

d. Carelessness

e. Injury

(1) aedcb

(2) eadbe

(8) daecb g < .
(4) cdaeb ’ SRR \
(5) daceb ’

OPENNET-VIII/2008 | 15 | - P.T.O,



73. - What is the proper order of the following ? ARRCNTIR TS ¥ S Lo

") ' ecdab - o : S o
@ cobad R
(3) badce ' u | R o 4
(4) bcade ‘ » / o ‘ ‘ ¥ ~
(8) ud.h s o - L :
3. Find out the set of letters for the blanks to complete. the series.
: aabe bbcab cabc abc _ '
(1) acaa
(2) cabb
(3) aabb ; -
@) caba, RS
®) bbaé | o : e T
Directions : In questzom no. 74 to 76 one term is muamg -Based on the nlatmnghm of the ﬁrst '
two given words find the missing term from the given options so that a similar relatzonsth L
18 formed between the third word and one of the optzons ¢ o :

74. Sculpture : Statue : : Poet : ?

"~ (1) Poem o (2) Musxc
(3) Painting | (4) Dance

75. Custom : Culture ; : Ritual : ?

(1) Religion @) Sect
(3) Practice - (4 Function

78. Venus : Planet : : Rose : ? . o \, )
() Garden | (@ Flower | -
(3 Red | 4 (4) None of the above

OPENNET-Vi2OO8 ' 16




Directions Questions No. 77 -78: Fin@ the missing letters/ numbers from the given opuons to

71.

78.

79.

80.

81.

'(1)" 4

complete the given series.

WAB, XCD, YEF, ?
(1) CNN

. (3) BKL

18, 30, 48, 72, ?
1 106
(3) 120

(@ ZGH
@ AU

@ 16
(4) . 102

If TABLE is written as GZYOV, how is ‘JOICE’ written ?

(1) OZLEJ .
(3) HOFAD

(2) -QLRXV

Yt (4) QZHMT

In the followingkﬁgures, four different views of a dice are given. Find the number of dots

on the face opposite to the face with two dots E

(3) 5

A piece of paper is folded and punched as shown below From the given responses, indicate

how it will appear wQen opened

Question Figures :

b

Answer Figures :

G

VvV V-V VOVOV VTV \'<
>A<>A<>A | AO?OA AOAOAOA @
@ @) &) @

OPENNET-VIII/2008
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82. Whlch ofthefollowmg answer ﬂguns thﬂeampkta thequemﬂm% TR =
Questmn F'tgure R o

6)) @ e B S
83. In wh1ch of the followwg answer ﬁgures 1s t.he queshon ﬁgure embedded 2.
“ Questwn Flgure

_A'nszqer Figures :

.
ER

™

T

OD_C{
“[lalela
olofe

(1)~ @ '<3>_. s (4) o

Directions : Tn questions no. 84 t“o 89 one ﬁg‘ﬂn is mwﬁmg ' the'
the figure which will complete the series gwen in the queatwn gt

- 84, Questwn Flgures 8

“}:{Answér Figures : R S meE T

| & @ e @ ( Gl U
 QPENNET-VIIl/2008 ' m v LR




85. Question Figures : -

olo ole. Oole \olo
q (Y o ® [+] L) L) [ ]
AN AR @ le? AN

K (2) 3) 4)

86. Question Figures :

Xle [
L 2
: , ?
X
Answer Figures :
. o |X X/
3
L [ ]
X
(1 (2) @3-

87. Question Figures : -

@

D |5

D D

Answer Figures :

‘_“B

()

OPENNET-VIII/2008
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88. Question Figures :

ETVIAD

Answer Figures

Gavw

“» @  ® @

5, »f’rr‘a \ 11”"@ '

89. Question Figures :

an

Answer Figures :

D

1

W@ @ @

| 90, ‘Which one set of letters when sequentlally placed at the gaps in the glven lettar sermi shall
- " complete it ? . , , . .

'D__N__NNDM_N “ ¥;;f
(1) NDMNM T gy
@ MNDMN
3 MDMNM . | [T T
4 DMNNM T T IR ','g;%,j
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91.

92.

93.

94,

95.

96.

97.

TEST v

MATHEMATICS
What will come in place of the questlon mark ?
JV625 576 = ? . . ‘ ’
(1) 49 . o8

3 54 o OIS

The amount of s1mple interest acctued on a principal of Rs. 25,000 in 7 years is Rs. 21,000.
What is the rate of' mterest per cent per annum ?. : :

(1) 15 L (2) 10
(3) 18 o (4) None of these

The sum of ages of members (ch11dren and their parents) of a family is 360 years If the
sum of the ages of the children in the: farmly is 240 years, what is the ratio of ages of the
husband to the wife ?

(1) 3:2°

2 2:3

3) 1:2

) Cannot be determined -

What is the circumference in centimetres of a circle whose area is 4911: square
centimetres ?

(1) 28= , ‘ 2 Un
@ Tn oo ' (4)‘2117.

What will be the cost of tiling the floor @ Rs. 35 per square metre, if the hall is of a square
shape and has a perimeter of 400 metres ?

. (1) Rs. 19,000 : : (2) Rs. 57,000
(3) Rs. 38,000 - (4) None of these

The average of eight, numbers taken together is 12. Two of these numbers are 0 and the
remalmng numbers are equal What is the value of the non-zero numbers ?

D 1 o T ® 12
3 6 f . @ 18

A tram runmng at a speed of 90 km per hour crosses a platform double its length in
36 seconds. What is the length of the platform in metres ?

(1) 450 : ' (2) 200

(3) 300 : , (4) 600
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The average age.of 24 boys in a classdg-L1. When the teacher’s age u mcluded the average
increases by one. What is the age of the teachgrl? :

(1) 34 years _ C o (!j) 42 ye&i's . , :

8) 36 years = @) dByears g

‘99, If the length and breadth of a rectangular field are increased, the arce’ increnses by 50%.

~ If the i increase in length was 20%, by what percentage was the breadth mcrqased ?
(1) 30% ' - (2) 25% '
3 20% - ’ ; (4) " None of these
‘l*r',' p lf. T ‘E.(r.h o I‘L e

100. A sum of money is dmded among A, B.and C,ssuch that if A gets ‘one. iupee, B gets 65
paise and C gets 35 palse If C's share is Rs. 28, the total money divided is - I
(1) Rs. 120 ... . (@ Rs 140
(3) Rs. 160 | (4) Rs. 180

101' Fmd the mlssmg mmber ﬁ'om the giveni sequence. ... SRR

5, 9, 13, 17, 7, 25 o

@ 21 (2) 28 | LoEe

® 21 o (4 19 N S

102. The area of the greatest circle which can be inscribed in: & square whase penmaﬁot u.‘ E
120 cm is : , . | N i :
(1‘)““2'7%,x 1B en® U b T

22 (1Y

2 —_— —

@ % (2) o .
22 (18 , - o iy

v (8) A= | == “ o T R PO S R R A T P A B e VR 1

i ( ) 7 X ( 2) o ; S T " "‘h VL { v
' 2 - S i1
@ Zx(2) e
7 2) S R !

1103. Starting from- hls hﬂuse one day, a student walks at a smed bf’ﬂli ﬁhﬁh and reﬁ‘ches ﬁs s
school 6 mmutes late Next day at the ‘same o time he mcreases hls speed by } kmph and
reaches the school 6 minutes early How far is the school from his house ? o
1 2 km o L
(4). .lz km - N 4R

OPENNET-VII/2008 | o2 : L A Pt



105,

106.

107,

108.

109.

110.

‘Fresh fnnts contain 68% water and: dry fnnts contam 20% water. How much dry fruxts can
be obtained from 100 kg of fresh fruits 2 e :

(1) 32kg 0 (2 40kg
® 52kg - ¢ (4 80kg
-The .value of e

 + V009 + Y0008 - 75% of 280"

(1) 04 T : (2) 001
@ -1 - = o (4) 0-001

A man can row at 5 kmph in stlll water. If the veloc1ty of the.current is 1 kmph and 1t
takes him 1 hour to row toa place and come back, how far is the plaoe ?

(1) 2:5km . . | B ta 3km
(3) 24 km o @) 36 km

The HCF of two numbers is 15 and their LCM is 300. If one of the numbers is 60, the other
is : S '

(W 50 L @ T

3) 65 . ) 100~ =

The average’ weaght of A, B Cis 45 kg If the average welght of A and B be 40 kg and that

of B and C be 43 kg, then the weight of B is

(1) 17kg o (@ 20kg.

(3) 26 ke : (4 31kg

The area of a regular hexagon of side 243 cm is

1) 183 em? ' . | o

(2) 1243 cm? S T o | ‘ -
(3) 3643 cm? | |
@ 278 em?

The ratio of bases of two triangles is x : y and that of their areas is a : b. Then the ratio
of their correlpondmg altitudes- will be C : '

a b
(1) E_i
(2) ax:by"
v x. b
@ 3y

(4)' Nqne ‘of these -
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111,

112

Dot
“The value of ‘a’ in

118.

114.

115.

OPEMNET-VIII/2008

ROV IS 3

(3 180

{1) A*'G% - O T 5 o RN

e

j;.ﬁ"[‘hemlxﬂnnmvalueo& 8in X'4:008iK. wmﬁalm oy
M -2 |
3 2

L@ 2
(;4) B

Sy
'y

The value of sin™! (%) + tan™! (;) is equal to

L

Plovgromey Xty riagp e o

a 189 . B

— =—is

84 a
(1) 126

.

(2) 124
(4) 132

of 1nterest ?
(2_5?4%*‘
@7 3%

ugh ae T ey

3 5%

thch of the followmg expressions are’ equn"alent ?

BN IETEN .
(E) - (l) . PSP ; e ,Hu -

P

a é.hd d-
@) bandc
3 b,c ;a.nd d
@

a, b andc

%

RERETAE A

D "u‘ 3

4 ' .
FEATSH P L S SR R RN

B
PPELIE A S
< -

T U TS ¢ R

s ral g




116. The sum of the ages of a husband and a wife is 70 years and the ratio of their ages is
3 : 2. The age of the wife is

(1) 42 years
(2) 25 years
3 28 years
4) 27 years

117. Two equal glasses are resﬁecﬁvelj % and % full of milk. They are then filled up with water

and the contents are mii:ed.in a tumble_r. The ratio of milk and water in the tumbler is

1) 3:11

@ 7:17
3) 9:23
(4) 11:23

118. A train 700 m long i is running at 72 kmph If it crosses a tunnel in 1 minute, the length
of the turinel is

(1) 700 m
(2) 600 m
(3) 550 m
(4) 500 m

119. On the level ground the angle of elevation of the top of a tower is 30°. On moving 20 m
nearer the tower, the angle of elevation is found to be 60°. The height of the tower is

® 108m L
(2) 10m
(3 15m
4) 20m

120. The least number to be added to 269 to make it a perfect square is
1) 31
(2) 16
@3 7
@ 20
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121. Ozone layer protects the earth from
(1) Infra-red radiation ’
(2) .Ultraviolet rays

BeS TR0 EL AR

(8) Cosmic rays - SR .
(4) None. of these ST

- : sy . ¢ B . P
. . . . ey 3 s N - ‘
S . ) R - S s N T 1 Ea, 28 ,,;i,! e

122. An exothermlc reaction is one which ‘ T ” L
(1) Absorbs heat . _ . o , ‘
~ (2) Releases heat , ' ' ‘ ! oy
'(3) Decreases heat ‘ N ey
(4) None of these ' o '

123. The colour of a star is an indication of
(1) Size ' ' _ " C
(3) Distance _ c ,
4) Temperatﬁre o ‘ Coote £

124. 'A drop of water is sphenca.l due to
(1) Surface tension
(2) Cohesion
(8) Adhesion

P (4»)<.éf,aViscosity P TT O

125. The ins‘rument for measurmg intensity of earthquakes is called

© (1) Eidograph _ : =
(2) Pantagraph - , o
(3) Ergograph o N .
(4) Seismograph ‘ o . R PEA S :

126 ‘Diamonds are glittering ,éﬁ&-attractiVé because light incident on themiw , *(%?/i?_, L
(1) highest refraction - B N L
(2 multiple internal reflections | S T
(3) multiple mgxrfa‘ce reflections Sl TR

| -(4) hundred percent transmission’ =~ : b o B ,

' OPENNET-VIII2008 | B




127. The inertia of an object depends dnly on,its . -
(1) Colour
(2) Shape
(3) Mass ‘
(4) Physical state

128. In the given circuits A (net resistance R,) and B (net resistance Rp), the resistances R,
“and Ry satisfy the condition

R/3 R/3 ~ R/3
(&) —AWWWA—AMMA— A

R/3

®B) AW
(1) Ry>Rp

(2) R, <Ry

(3) Ry =Ry
4) ; None of the above

129. Which of the following is used to split white light into different colours ?
(1) Glass mirror o : :
(2) Convex lens

(8) Concave lens
(4) Prism

130. Fibre optics work on the principle of
(1) Scattering of light '
(2) Total internal absorption
(3) Total internal réﬂection.
(4) Optical rotation

131. A transformer
(1) stores energy
(2) regulates voltage ‘ ‘
(3) speeds up transmission of energy '
(4) changes electrical energy into mechanical energy
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182. If i, p,, |, represent the coefficient of static, kinetic, and rolling friction respectively, thea,;

1) p;:;,lk:p,r.

B >
) l’Lln; > Ky > He .
133. The moment of momentum is named as R
(1) Impulse
(2) Couple
(3) Torque
(4) Angular momentum -
- 134. The velocity of sound is largest in _ _ 7 v
(2) Vacuum _ . _ Lo a
(3) Air ‘ | B . S
 (4) Steel ‘

. 135. A transverse wave travels along the z-axis. The partlcles of the medlum mus}; move
(1) along the z-a:ns :
(2) along the x-axis -

(3) along the y-axis -
(4) in the x-y plane - | SRR, ;e
186. Decibel is the unit used for ‘ C e .
" (1) Speed of light ' ' - e
0! Ixitensity of heat - - ' ”
(3) - Intensity of sound ' :
'(4) Radio wave frequency .
E .1387.. Conversion of chemical enei';gy into. electrical enéi‘g}; eecﬁrs" 1n o j , ' !
” (1) dynamos | ' ' ‘ ’ v.!f
(2) electric heaters. o v S o
' (3): batteries o e e
" (4) atom bombs E T
138. The temperature decreases with the m.lxmg of sugar-in hot m11k because
| (1) sugar remains cool : : S o R
(2) milk becomes cool with sugar by chemical process = R
(3) - sugar takes the heat of milk to set into a hquld B R ) CNCTRY.
(4)  All of the- above : . e I T NN -
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139.

140,

141,

142,

143.

144.

The temperature at which the speed of:_so'und in air becomes double of its value at 27° C
is v , ,

(1 54°C

(2) 327°C

. ®) 9271°¢C

(4) -123°C

When an object i is transferred from the earth to the moon
(1) its weight increases

(2) its mass increases

(3) its mass decreases

(4)  its weight decreases

Dimensional formula for.impulse. is .
(1 [ML2 T2)
@ [MLT2]
(3) [MLT!]

4) [M L2772

(1) changes in magnitude

(2) changes in direction

(8) remains constant :

(4) changes both in magnitude and direction

A boinb of 12 kg explodes into two pieces of masses 4 kg and 8 kg. The velocity of 8 kg
mass is 6 m/s. The kinetic energy of the other mass is

1) 2447
(2 324

3) 484J

(4) 288J

Electromagnetic 1induction involves

(1) charging a bo&y ‘with a negative charge

(2) charging a body with a positive charge
(3) the productlon of current by relative motion between a magnet and a coil
(4) None of these _
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145.

‘When an object abeofbs all the colours incideint on it, it appears - | o - Ak
(1) white . : ' "

"~ (2) Dblue
(3) black

146.

147.

148.

(4) None of these

The frequency of BBC is 1500 kHz. What is its Wavelength ?r

(Given velocity of hght ¢ =3 x 108 m/sec) o AR ‘T, pe RS
(1) 210m | e |
(2) 200 m

(3) 400 m

(4) 300 m -

Candela is a unit of S S T AR RS
(1) Acoustic intensity o / T B "‘,.3 -

(2) Electric intensity
(3) Luminous intensity
4) Magnetic intensity

Which of the following laws validates the statement that matter can neither be created nor

destroyed" S N

¥

;(1) Law of conservatlon of energy

(2 Le Chatelier’s pnnc1p1e

'149.

~ OPENNET-VIII/2008 o B 30

(3) Law of conservatxon of mass
(4) Law of osmosis ‘ | SRR U S

el

The mass and acceleration of an object are 100 kg and 10 mluec2 respsct;valy Wh&t kmcdnt _
of energy will be spent in travellmg the distance of 10 m 2 :

-

(1) 1000 joule

(@) - 10 kilo joule
@) 50 joule
(4) 150 joule

~ Velocity of hght in a medlum is 2 X 108 m§ -1 Refractlve mdex qf the medmm 1s e

1) 14

Ak
(4) 1.5 . ‘ B Lo X ) -:IV“.;'A ) [ ',g::'?:\;"} ;‘""f\j{:"‘




- TEST VI
CBEMISTRY
151. The correct order of atomic radii is
() N<Be<B
(2) Na<Li<K
' (3) Fe* < Fe?* < Fe**

4) F <0; <N*

152. The ratio of charge to mass would be gréatef for
(1) Proton SRELE
(2) Electron
- (3) Neutron
(4) Alpha particle

153. Sulphur has the highest oxidation state in
(1) H,S0, B
(2) NaS,05 |
® S0, | o
(4) Na,S,0,

154. In the modern periodic table, the period indicates the value of

(1) Atomic number

(2) Atomic mass , _ .
(3) Principal quantum number
(4) Azimuthal quantum number

155. Temporary hardness in, water is caused by
(1) MgCO,
(2) MgSO,
(3) Mg(HCOy),
(4) MgCl,

156. BaCl, + Na,SO, —» BaSO, + 2 NaCl is a
(1) Replacement reaction
(2) Decomposition reaction
(3) Double decomposition reaction
(4) Substitution reaction

OPENNET-VIIl/2008 - 1
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157. Bond order of a molecule. of oxygen is
(1) One
(2) Two ‘ . . o
(4) Four | |

Cg T RN

158. One litre of dloxygen gas at STP will weigh (in grams) S e ‘ ,‘:f'fi;Fi‘ e o
() 1438 :
@ 224 - ) E o o

(3) 224 B . R B TR

@ 112 : “

RE R T

189. The enthalpy of all elements in then- standard state is
1 1
@ 0 o
@) w | .
4) -1

160. Change in Gibbs free energy is S : R s T e L
(1) AG = AH + TAS | " o
(2) AG = AH x T AS
3) AG=AH -TAS
4) None of these.

'161.. Which ¢f the following has greater entropy ?
(1) Iw . ) o iy, . .
~ (2) Mixture of water and ice
" (3) Water vapour - ' : . |
' (4) Liquid water ‘ T

162. 1ml of 0-1 M HCI is added into 99 ml ofwater The pH of the reaumng solution i is
@y 01‘ RN
@ 10
3) 20 : o . - ;
@ 30 j - S T O WA

168. ‘Syngas is a mixture of ‘ ’ :
(1) COandH, | B T
(3)  H, and Cl, A S i AR LIy § 1
(#) NH, and Cl
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171'

172.

178.

174.

175.

is

(1) 2-dimethylpropan-1-ol
@) 2,2-dimethylpropan-1-ol * '

(3) 2-methylbutan-1-ol

' (4) None of the above

The most stable _carbocatioh among the following is

(1) CH,

(2) CH,CH,

3) (CHy),CH
@ (CHp,C

170. The TUPAC name of the compound with structural formula CH; - C — CH20H

CHy

The amount of electricity reqmred to deposlt 1 mol of alumlmum from a solutlon of AlCl

will be
(1) 0-33 Faraday
(2) 1 Faraday

(3) 3 Faraday

(4) 1 Ampere

Alums purify muddy water by - ’

(1) dialysis

(2)  adsorption
(3) coagulation
(4) filtering

Aluminium is not present in. . . .

(1) cryolite

- {(2) mica

(3) feldspar
(4) fluorspar

Whlch of the followmg hahdes is most acxdlc ?

(1) PCl

(2) SbCly
@) Bi'(n3 ”
4) col,
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164.

165.

(4) -NH,

164, Chemical formplae of washing sodajs . . . N
- (1) NaOH o ‘

(@) NaHCO,

167.

" 168.

169.

OPENNET-VIll/2008 .

@ -£4

Y] Ca(OH)2 E L a° vn‘ M 'T 11:,;57‘55;5--‘ b ‘ i

@) NayB,0,.5H,0

(2) glass and felspar

Rate of reaction: A - B is written as

@ daxd L,

ST e gk et ‘v“, R »vl',-”’ &
d[A]

2 F\ ——— _-75‘i
@ =

d[A]

- dt o Tl L ‘,'}:‘g !v 7!‘{5'gf‘._’;,i;“5_‘,‘:.‘3{3};@;:fi »
(4) - dA x dt C ' . T4 BT T S S N

Whlch of the followmg is used in polIutlon control ie. treatment of damestu: W mﬁustnal
effluents ?

2) D,0
(3) "Alum

“ ity L L - e SN e L BT g e i
S R e e U0 R, wd T LRRE

(2) Na,CO, . 10 H20
(3) CaCO,

Borax is expressed as -

(1) Na,B,0,.10 H,0

(3) Na,B,0,
(4) H BO
ngh meltmg pomt of dlamond desplte bemg a oovalent *conipomid fb“m iﬁ&f& b
(1) strong crystal structure e :

(2) toughness

(3) strong C—C bond

(4) organic nature

Two important man-made silicates are i

(1) glass and cement }

(3) cement and felspar
(4) felspar and zeolite




176. When formaldehyde and KOH arp heateq:we get -
(1) acetylene | | o
" (2) methane
(3) methyl alcohol
(4) ethene '

177. The general molecular formula which represents the homologogs series of alkanols is

(1) C.H,, .0
@ C._H, 0,
3) CH, 0
4) C.H, 0

178. For the reaction
ONa

OH |
© +X—> O + HyO

Xis

(1) NaOH
2 Na

(3) NaH

(4) NaH,

179. Transition metal halides have the highest oxidation number of metal
(1) chlorides '
(2) fluorides
- (3) iodides
(4) ‘bromides

180. The reaction . _

CH,Br + 2Na + BrCH, —dI¥ether , oy, _ CH, + 2NaBr
is called ' '

(1) Wurtz reaction

2) 'Decarboxylation

(3) Kolbe’s reaction

(4) Halogenation
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